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11
y(n) = 25(o + x())

Ellie
xill -> yek-e

jwon jx,

e

x2(u) -> yeh] = eFron jxeflne

xnb = x ,
2)+ xah) - y() = eTwom JunC

-eswom Jax,/ + xafl)n
e

joon jx ,kinTXzSl=
ee

=
e-swon

y ,Selyalus

Ear
joon jx(e) n1

x (t =
x

,
(n -mo) - y(r) = ee

jronjX ,
Cn-no

=
C # y ,

(n - n)

BuT yen-nob = eiwolmenos esti(n -no) . (n - no)

-

·TT-INVARIANT

↳ CAL ? Does yf) depend on

any

x(m) for m > n ?

y(1) = eswon5x()n depends on XIm]

EIS cause
only for m =



I IS IT STABLE ?

Def : Well M ,
=> ly()) < Me

y() = estomjx
kn

e

me
What is youl ?

eiror-cltAlwesion
H(w) = Enkleiron = 1 + 4e-Two + ze-Ejw

y() = (1 + 42
-50

+3
-250) won

It
F(w) =

1 Iw)

S G otherwise

Find f(u).

This is an ideal LPF wantoff W=

= fl= sinc(war) = Esinc()

=) ener=
= [e]



I ek)-f
(n) = 64

otherwise

G(w) = i F(w) * W(w) ; Find W(w).

g(a) =wilflo- G(w) = I F(w) * W(r)

wh] = 1 In 1264S O otherwise

64Jun
W(r)=we

n = - 64

JW6- m
= n +64

= esntwas a
=

12 h(l = g( -64] = H(w) = D(w)G(w)

I

H(w) = e

-5064G(w)
D(w) = e

-5064


